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& Az & 4 OUT | IN |TOTAL| HDCP NET
B B WEER 75 38 | 37 | 715 | 10 65
AN g BE 38 | 41 | 79 | 12 67
3 fir AF B= 35 | 36 71 3 68
4 fr Bk & 38 | 42 | 80 12 68
5 fi A I5 39 | 37 76 4 72
B-G AF B= 35 | 36 71 71
65 +MEHFIAE A & Bk & K
T —  FRIADE

& Az & 4 OUT | IN |TOTAL| HDCP NET
B B =R ek 36 | 38 | 74 | 10 64
AN S R1E 36 | 36 | 72 6 66
3 fiL )l F— 43 | 37 80 9 71
4 {7 Ly 3T 41 | 42 83 11 72
5 fir ‘B Fih 47 | 38 | 85 13 72
B-G | FHBIE | 36 | 36 | 72

& Az & 4 ouT IN [TOTAL| HDCP NET
# B i sz 44 | 44 | 88 30 58
HEMR RS KE FE 43 | 39 | 82 16 66
3 fir BEH 43 | 46 89 23 66
4 fr ILvE B3R 45 | 42 | 87 | 17 70
5 fir BET BHEE 43 | 42 85 14 71
B-G KE HE 43 | 39 | 82
65 +WEHGIMN B AR Bk & K
T — KT ADH

& Az & 4 ouT IN [TOTAL| HDCP NET
B % #%EEM 13 43 | 46 | 89 30 59
HER W55 R 41 | 48 | 89 | 22 67
3 fir K %2z 43 | 48 | 91 | 22 69
4 fr 8 AEE 46 | 44 | 90 | 20 70
5 fif 2 H S 48 | 50 | 98 | 28 70
B-G JIIPE 5% 46 | 39 | 85

EBEH ) —EEE]




